Opérations avec deux fractions mixtes (A)

Nom: Date: Note:

Calculez chaque résultat.

1 5;+21—34=
2 5%+32—3O=
3 5%+1; =
4. 11%X5411 =
5. 5= —2= =
6 5%—51—18=
7 5%+2% =
8 5; 1% =
9 5%—5— =
10. 1%x5% =
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Opérations avec deux fractions mixtes (A) Réponses

Nom: Date: Note:

Calculez chaque résultat.

3 3 38 31 7_6+2 107 9
14 14 ~— 14 14

2 3 27 63 108 63 171 11
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3 1 13 21 273 33
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1 1 11 19 99 38 61 7
957 T 379 T 8T8 T 18 1
, si_s1t _ 16 91 9% 91 _ S

3 18 3 18 18 18 18

1 1 21 11 21 5 105 17
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5 2 40 11 440 62

— 1— _ — _— = —_— — —_
5. o7 %15 X9 63 063

3 23 11 23 22 1
ST T AT T AT T g

1 2 3 27 81 1
10. 1§X5§ = EX? = 1—0 _81—0
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